% YeTHOCTb, HEYETHOCTb CMUHYCA,
KOCUHYCa,
TaHreHca, KoTaHreHca

SIN(—a) = —sin o
tg(—a) = —lgQ > > HeyeTHble

dyHKUUMN
ctg(—a) =—ctea

COS(—Q) = COSQ =—> Yerhas
dyHKUUA




% MepuoanyHOCTL

TPUrOHOMETPUYECKUX
Aasssssrnnnana

[lp U3SMeHeHnU yrna Ha uerioe Yucrno
obopoToB
3Ha4YeHuda CMHyca, KOCUHYcCa, TaHreHca,
KOTaHreHca
e nam{Vhiorc




X

sino =
= sin(a +360") =
= sin(a +2-360") =
= sin(a +n-360")
CoOSa =
= cos(a +360") =
= cos(a +2-360") =

= cos(a +n-360")
go =
=tg(a+n-180")

ciga =
=ctg(a +n-180")
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cos 78U ‘=

= cos((60 +2 3560 ) =

22




g. . | . Jg
sm(——) =——SN—=—-——
3 3 2

T 7T
g( 6) g
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cos(—45") = cos 45’ = —

tg(~60°) = —1g60° = —/3
V2

sin 405 =sin(360" +45") =sin 45" = —

sin(—765") = —sin 765" = —sin(2-360° +45°) = —sin 45° = ‘g




gsm 765" = cos1110" =

=sin(45"+2-360")=  =cos(30"+3-360") =
:sin45:% :COS3OM:§

sin(—1470") = —sin1470" = —sin(30" +4-360") = —sin 30" = —%
1
cos(—1140") = cos1140" = cos(60" +3-360") = cos 60" = >

sin(—810") = —sin 810" = —sin(90" +2-360") = —sin 90" = —1
cos(—1170") = cos1170" = cos(90" +3-360") = cos90" =0
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% sin(——) =—sin— = —@

4 4

sin 2,57 =s1n(0,57 +27) =sin 0,57 =sin % =1

O 1 A2
cos(— T) =cos(2— 1 ) =cos(2m + Z) = cosZ = ~
137 T T A3
(g —— =1 2 w)=teg(—+2n)=tg—=——
g g( 7 ) = g(6 ) 8=

ctg(— 777[) = —ctg(Z%ﬂ) = —ctg(% +21) = —ctg% =3
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jog—— =1 + =to(4n+—)=to—=1
A g( A 4) g( 4) &5

eig(—) = —cig( + T
AT S

)=—ctg(2m + %) = —cl‘g% =3

257 257 247 T 3
Cos(———) = cos—— = cos( +—)=Ccos— =
6 6 6 6 6




. Ha#hante 3HayeHHe BbipaXkeHUs

PewunTte camMoCTOATENIbHO!

. ™
Haiinure 3HaueHue Boipaxenust 3v/3 cos 5 08 .

Hafinute 3HaueHHe BbIpaXKeHHS 5 cos(—390°).

Haiinute 3HayeHHe BbipaxceHns 4v/3tg(—750°).

28 8in 316°
sin44°

. Haiinure 3Hayeune Boipaxkenus




